
3" = 1'-0"
3" = 1'-0"

Scale:

FRONT

2

Scale:

RIGHT

3

Scale:

FRONT ISO

NTS

4

PANEL 3

FLIP BOOK SPINE

K K

SECTION K-K

SCALE 3" = 1'-0"

I

DETAIL I

SCALE 2:1

3/4" plywood is notched for 5/16" nuts

1/8" thick x 6" wide

aluminum flat stock

3/4" birch ply; this is the top

layer of the angled shelf

(see page 4)

CNC PROFILE IS

IN SHOW FOLDER

3/4" birch ply top

of angled shelf

Custom u-bolt with 5/16"-18 thread

1/8" thick x 6" wide aluminum flat bar

Custom u-bolts with 5/16"-18 thread

7 3/4"

1'-9 1/2"

2
"

1
'
-
5
"

4

9

.

8

°

4

0

.

2

°

1

6" = 1'-0"Scale:

ALUMINUM PLATE - FRONT

6

6" = 1'-0"Scale:

ALUMINUM PLATE - RIGHT

7

NTSScale:

ALUMINUM PLATE - FRONT ISO

8

6" = 1'-0"Scale:

ALUMINUM PLATE - TOP

5

1/2"

1/2"

2 1/8"

3 15/16"

5 1/2"

2
"

6
 
1
/
2
"

1
1
"

1
'
-
0
 
1
/
2
"

Ø3/8" TYP.

Ø1/8" TYP.

R1/4" TYP.

1/8" Ø holes are for screwing

plate to plywood shelf; PLEASE

COUNTERSINK HOLES FOR

SCREW HEADS

3/8" holes are for custom

5/16" Ø u-bolts

1/8" thick x 6" wide

aluminum flat stock with

powder coated finish

(color: satin black)

6"

1
'
-
1
"

1/8"

Note:

- Aluminum plate is water jet cut

3 5/16"

File ID:

Revision #:

OF

Drawn by:

F
u
l
l
 
S

c
a
l
e
:
 
3
6
"
x
2
4
"
 
 
 
5
0
%

:
 
1
1
x
1
7
 
 
 
N

o
t
 
t
o
 
S

c
a
l
e
:
 
8
.
5
x
1
1

Page:

Plotted:

N
a
t
i
o
n
a
l
 
I
n
v
e
n
t
o
r
s
 
H

a
l
l
 
o
f
 
F

a
m

e

A
l
e
x
a
n
d
r
i
a
,
 
V

A

A
p
r
 
3
0
,
 
2
0
1
8

P
a

t
e

n
t
 
N

o
t
e

b
o

o
k
 
D

i
s
p

l
a

y

F
l
i
p

 
B

o
o

k
 
S

p
i
n

e

05

05 06

03D

Elise Masur

04/10/18


	Sheets and Views
	D03-Rev05-MuseumExhibit2018-PatentNotebookDisplay-Pg(5)-FlipBookSpine


